o
[N

<0 > (rad)
o
o [
[ [¢)]

o
TIT [T I T [ TI T[T [ TT T[T T T[T rTI[TTT

.......

.......

Ratio
&
Trr IM

[T

-2

-1 0 1

2

3

TP n (PCA to beamline)

< o cot(y) >
o
=
a1

.........................
........................

0.95!

-2

-1

0 1 2 3
TP n (PCA to beamline)

—=— 2/CMSSW_12_3_X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__mkFitOLD__RECO
—— CMSSW_12_3_X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__mKkFitNEW__RECO

100

(23 e ]
o O

< 00, > (M)
D
o

(@)
LR I L R T L L RN AR A

20

8

.......

RatioI

[T

0.95

-1 0 1

2

3

TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

..............

A

(O R B R LR R RN R RNl RRR R RRRRN RN RN AR RARRN LRRL

-1 0 1

2

3

TP n (PCA- to beamline)

= 100

l@c....l n P I PR I I O 1 A
o 100F
@ N H
o L ]
1] L4e- a0 -1

0.95

W

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


